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L. Binary Choice Questions: 10 questions worth 2 points each

NU THAD 1 Ifthe average total cost for some firm is increasing as the level of its output increases, then its
L

marginal cost is increasing as output increases. Y, M AT
[e)
b. False
C /;,{Y 2. A perfectly competitive firm in the long run will: Q

a. Produce that quantity where average total cost is less than pricé and where the firm will find
its mj,rginal revenue from selling the last unit is equal to its marginal cost of producing the last
unit.

® Produce that quantity where price equals marginal cost{md where average total cost is
minimized.”’

NG6T §AC) 3. Consider an industry where all the potential firms in the industry are identical and where a
firm's total cost curve is given by the following equation where Q is the number of units of the
good:

Total Cost for the firm: TC = 10(Q*Q) + 20Q + 100

Suppose that in this industry a total of 100 units of the good are needed. If one firm produces this
entire quantity, the average total cost of production for this firm is equal to ; and if five
firms produce this entire quantity (so each firm produces 1/5 of the total amount), then the
average total cost of production for one of these firms is equal to
v
a. $1021; $204.20
(B $1021; $225
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B}LS‘D, 4, Which of the following situations is an example of 2nd-degree price discrimination?

a. Movie theaters offer different prices for seniors and students. 7% /el degres priee T e s o
(©) The Walmart Company creates Sam’s Club to serve those consumers who are willing to
purchase larger quantities of the good provided the good is sold at a lower price. ¥~

g asy 5. A monopolistically competitive market differs from a competitive market because in a
, monopolistically competitive market:

=2 AABAD . e § di Foresteates prodicciy
@ The goods sold by each firm are not identical. =) MEns - tweye b3 ifferes

i . . J h o bef s
b. There is no free entry and exit of firms. 771;21& ¢ Zfﬁ @mﬁ’7 wnd ot} Dh boolh kool 5
aF Mmie

1)( f . 6. The city of Orangeburg is installing streetlights. The government of Orangeburg has asked
residents to voluntarily contribute to a "Streetlight Fund" so that they can install more
streetlights. This collection effort is likely to fail since:

a. The responsibility to install streetlights is a government responsibility and not a citizen
responsibility.
Streetlights are a public good.

M 0+haﬁ’ 7. For a natural monopoly, over the relevant range of output, as the level of output increases:

a. The price the natural monopoly can charge for its product is less than its average total cost of
roducing its product.
b.)The average total cost of producing that output decreases.
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A LiTTLE 8. Consider the demand for ice cream cones and the demand for fireworks in a community.
THoUS #7 Suppose there are only two residents in the community, Bob and Stan. To find the market
demand for ice cream cones in this community:

a) One should horizontally sum Bob and Stan's individual demand curves for ice cream cones
and to find the market demand curve for fireworks one should vertically sum Bob and Stan's

individual demand curves for fireworks.
b. One should vertically sum Bob and Stan's individual demand curves for ice cream cones and

to find the market demand curve for fireworks one should horizontally sum Bob and Stan's
individual demand curves for fireworks.

Ao T HAS 9. The socially optimal amount of the good will be produced:
IFY*M . o
oW @./ a perfectly competitive market, by the perfect price discriminator, and by the natural
NTEN monopoly that is regulated with margir:}l cost regulation.
co b. In the perfectly competitive market, and by the natural monopoly that faces average cost

regulation. X F=mc [45F wpef s 2T d?f L= a'-’}.-f ‘
A C pefuliimm = = éj} ¢ /va Jedt wunit P >mc ﬁv (o5t e

[ £ ]
EAY )l/ 10. In a perfectly competitive market: . Qe < Wsveopt

(a)Individual firms make zero economic profit in the long run.
b. The demand curve that any individual firm faces is perfectly elastic and the market demand is

also perfectly elastic. X _ ~
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I1. Multiple Choice Questions: 20 Questions worth 4 points each

RIHT
ANTWER

11. Which of the following statements is true?

{S X a. At a given level of output if you know that the average total cost is greater than the marginal
A f“: [ _cost, then it must be the case that the average total cost is increasing as output increases. ¥
opvi 0> b Ifa ﬂ.er is operating under increasing returns to scale, this implies that the average total cost is
increasing'as output increases. X [RTS = ATC 2o Q T
c. Suppose there are 99 factors of production used in the production of good X. Firms that
produce good X are considered to be operating in the long run if they can freely adjust 98 of
these factors of production. X No,all fachws mushae v 2ble 1 pe i LR
In a perfectly competitive market, each firm produces the profit maximizing level of output

—

where marginal cost is equal to market price. ]

Sé ME 12. A firm decides to triple its hiring of all its inputs. This firm is a small firm and its hiring
TH-'J U&AT decisions do not impact the price of the inputs that it hires. The firm initially produced 125 chairs
and after it alters its hiring of inputs the firm finds that it can now produce 500 chairs. Given this
information and holding everything else constant, which of the following statements is true?
— /’TS'SHM thir (v a tenStanFecost rndu va'

. - . i —
I. This firm has decreasing costs over the relevant range of production as output increases. ]

II. This firm's total costs increase but by an amount that is less than three times its original total

" cost level. r:

— A —
II1. This firm finds that it is not beneficial to increase the size of its factory. f ) & & / ,/4 [[&%

IV. Since this firm experiences decreasing costs of production as output increases, this firm
experiences decreasing returns to scale. X
5 no L’nww/mf
a. Statements I and II are true.

b. Statements I and IV are true. = 5
(SOnly Statement I is true. [256 X373 7

d. Statements III and IV are true. <y /ynm o f;iw )
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Use the following information to answer the next three (3) questions.

Sweettown is a city with many coffeeshops. Each of the coffeeshops has identical cost functions
and they are given by the following equations where P is the price per cup of coffee and q is the
number of cups of coffee:

Total cost curve for each firm: TC = (0.2)(¢%) + 20

Marginal cost curve for each firm: MC = 0.4q

Let Q be the market quantity of coffee measured in cups of coffee. The market demand curve is
given by the following equation:

Market Demand Curve: P =124 - 2Q

There are initially 10 identical coffeeshops in Sweettown. Assume that the coffeeshops are
operating as perfectly competitive firms in this industry.

lw TFHA7P 13. Given this information and holding everything else constant, at what price will average total

HAr D

HA#2D

cost equal marginal cost?

@ $4 per cup of coffee
b. $3 per cup of coffee
c. $2 per cup of coffee
d. $1 per cup of coffee

étc - You May Encoynttr an "ugf Y numhe-" 4, K ou wanlk %rﬂ"ﬁ" Thay pro Llewn ,
14,,Given this information and holding everything else constant, which of the following
statements is true about this market in the short run?

a. Firms will earn zero economic profits in the short run.
b. Firms may earn negative, positive or zero economic profits in the short run.
¢ Firms will earn positive economic profit in the short run.

Firms will earn negative economic profits in the short run.

15. Given this information and holding everything else constant, how many firms will enter or
exit from this industry in the long run? Assume there are no changes to the market demand
curve.

a. 4 firms will enter the coffee shop market

b. 6 firms will exit the coffee shop market

¢. 6 firms will enter the coffee shop market
4 firms will exit the coffee shop market
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2 /K\f 16. Which of the following statements is true when the market structure is a monopoly?
a. There are many buyers and sellers in this market. X Only éne ﬁ‘m (na momap of Y toc m Je

b. Each firm in the market always ears positive economic profit. X Thert 1's oy one prrmih
c. The products sold in this market by different firms are indistinguishable. X 7hcs- ;?dnﬂzﬂ re ﬁ 7 on

@There are barriers to entry in this market.

H D 17. A profit-maximizing monopolist produces a positive quantity 0* > 0. At Q" the monopolist
also finds that the following conditions occur: %

ATC > P for this monopolist
P > AVC for this monopolist
AVC > MR for this monopolist
MR = MC for this monopolist
Given this information, this monopolist should in the short run. Assuming that

there are no changes to the above information, this monopolist will in the long
run.

2 firm srtienver D fim's v D Should prodace ‘R X

shut down and suffer losses that are equal to thelr total fixed cost of production; exit the

industry

b, produce at Q* ‘gnd earn positivg egéﬁac;un\lli_:: profit; continue to produce at Q*’( She »’:L d extmtiR
roduce at Q* and suffer losses that are less than their total fixed cost of production; exit the

industry ¢~

d. shut down and earn zero economic profit; exit the industry

G F Q=0m 8 > T =—fC

1 me ATC
ATC AN
fin
AVE
MR
"
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18. A monopolist faces two groups of consumers. The demand for each group is given below:
Group 1: P=20-Q

Group 2: P=16-Q

The monopolist's marginal cost is: MC = Q

Suppose this monopolist cannot distinguish whether a buyer is a group 1 buyer or a group 2
buyer, but he does know the maximum each buyer is willing to pay for the good. Suppose this
monopolist practices first degree or perfect price discrimination. How many units will the
monopolist sell if he practices perfect price discrimination?

a. 36 units

b. 10 units

12 units
d. 18 units

19. A monopolist faces two groups of consumers. The demand for each group is given below:
Group 1: P=20-Q

Group2: P=16-Q

The monopolist's marginal cost is: MC = Q

Assume the monopolist can separate each consumer of this product into the relevant group and
then charge a different price for the good to the people in each group. How many units of the
good will the monopolist sell to each consumer group?

a. 4 units for Group 1 and 8 units for Group 2

b. 10 units for Group 1 and 2 units for Group 2

.5 units for Group 1 and 3.5 units for Group 2
. 5 units for Group 1 and 4 units for Group2

12
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LE $5 e %.O. Consider a monopoly that can be described by the following equations: _28
THA N IT 76
o M
SEENS Market Demand for the monopoly: P =200 - 2Q LY &
J—
Marginal Cost for the monopoly: MC =20 + Q 3 ‘?/: ! I M 0
6 1 ¢t 0
Total Cost for the monopoly: TC =10 + 10Q + (1/2)(Q)(Q) W Ajf(; [ &

This firm is debating whether it will be a single price monopolist or whether it will practice m
second degree price discrimination. If the monopoly practices second degree price discrimination

it will sell the first 18 units of its output for $164 per unit and it will sell an additional 18 units of

its output for $128. If the firm acts as a single price monopolist, its' profits will equal ___ and if

the firm acts as the described second degree price discriminator its' profits will equal

a. $1790; $1985 /<’
b. $2390; $2866 rzg
c. $2390; $4238 "
$3590; $4238 ""“7—4 g
f Somle e manepely s
9"“? e mh > 200-4Q Ft o0&
1T \ MC Car
20 !"\"«‘« D 20+ @ = 190 - 4@
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p=ao0-24= 200-7
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21. Suppose Scalar, Inc. and Positives, Ltd. are the only two firms in the market for a new type
of widget. Consider the following payoff matrix for Scalar, Inc. and Positive, Ltd. The first
number in each sell represent Scalar, Inc.'s utility, while the second number in each cell
represents Positives, Ltd.'s utility. :

Positives, Ltd. pursues Positives, Ltd. pursues
strategy of strategy of \\
INVEST DON'T INVEST
|
Scalar, Inc. pursues strategy | _ N |
of — i N
™
ST X, 60 _120.Y - .';' :
Scalar, Inc. pursues strategy '|
of \
DON'T INVEST &880 e, 140
\_

What can we say about the values of X and Y if we know that Scalar, Inc.'s dominant strategy is
to invest and Positives, Ltd.'s dominant strategy is to not invest?

a. X<20;Y <120

(b) X>20; Y>60

c. X>120; Y <60

d. X > 120, Y > 140
St ﬂ @ X 720

Ps sihies | ___)i_\ 760

1 X
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22. The following figure illustrates the cost structure (ATC, AVC, and MC) of a monopolist
facing the market demand curve, D, and the marginal revenue curve, MR.

This graph is NOT drawn to scale
but all numeric values marked are true
and the D and MR bines are linear

Given the information and the above figure, what is the value of the monopolist's profits when
this monopolist maximizes their profit? Assume that the monopolist sells their product at only
one price (i.e., no price discrimination).

a. $16
b. $24
. $0
$8
Semé _ 23. How many of the following statements are true for a monopolistically competitive firm?
THOUG H T

I. In the long run the monopolistically competitive firm will produce the socially optimal amount

of the good just like in a perfectly competitive industry. X F @ /Hgfu ced & ‘;: 5 (lan
Jde g7

I1. Monopolistically competitive firms provide us with variety, but the cost of this variety is that

the monopolistically competitive firm does not produce at the minimum point of its average total

cost curve in the long run.

I1I, Monopolistically competitive firms earn positive economic profit since they, like
monopolies, are protected from competition due to barriers of entry. F

IV. In the long run a monopolistically competitive firm finds that the price it charges for its
product is greater than the average total cost of producing that product. F

0. 4
ne statement is true. é;) M U.f/ T =0 =7 & / =ATC

b. Two statements are true.
c. Four statements are true.
d. Three statements are true.

15
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24. Consider a market that can be described by the following equations where Q is the quantity

THoUGHT of the good and P is the price per unit.

An excise tax of $3 per unit of the good.

Market Supply Curve: P=2+Q
Market Demand Curve: P =100 - Q

Suppose the production process causes $1 worth of social cost per unit of the good produced, and
the firms in this market do not internalize this social cost. The consumption of the good also
causes another $2 worth of social cost per unit of the good consumed and the consumers in this
market do not internalize this social cost. Suppose the government decides that it wants the
socially optimal amount of the good to be produced and that it will use an excise tax on
producers in order to achieve this goal. How much excise tax should the government place on the
producers to achieve the socially optimal quantity of the good?

| ?(rH o el coct

a. An excise tax of $2 per unit of the good.
32 JZW(A"L'W"‘E cost

¢. An excise tax of $4 per unit of the good.
d. An excise tax of $1 per unit of the good.

a{Z,Z Cozt caf/affz,,&/da/h goa\eﬁ] w5 # 3/(,”7,7

25. Suppose the cost of providing public health information in a small town is $40,000 a year per
unit of information (so, for example, a unit of public health information might be directives for
how best to stay safe from COVID-19). The public health information is freely available to all
residents in the community. The demand for public health information by each individual is
given by the following equation where P is the amount per public health information the
.ndividual is willing to pay and Q is the number of units of public health information.

Individual demand for public health information: P = 100 - 20Q
There are 2000 residents in the town.

How many units of public health information will be provided in this small town if the socially
optimal number of units of public health information are provided?

)4 units of public health information
b. 1 unit of public health information
¢. 2 units of public health information
d. 3 units of public health information

16
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THIS 26. Suppose the cost of providing public health information in a small town is $40,000 a year per
e unit of information (so, for example, a unit of public health information might be directives for
ReQV iRES how best to stay safe from COVID-19). The public health information is freely available to all
¢ LSE re51dents in the community. The demand for public health information by each individual is
REA DiNE. g:v en by the following equation where P is the amount per public health information the
NOT individual is willing to pay and Q is the number of units of public health information.

/‘h*?"/:’j;/vu Individual demand for public health information: P = 100 - 20Q
guei)”
H,M-’C There are 2000 residents in the town.

AT:} {7 How much should each citizen be taxed in all if the socially optimal number of units of public
THE health information is provided in this market?

’ex?'ff—’“'

a. Total tax bill equals $20

ASKED b. Total tax bill equals $60
@Total tax bill equals $80
d. Total tax bill equals $40
N o7 27. Use the following diagram to answer this question.

HARD

50
30

as | -
10 MC
o

20 25 35 40 50 Q

Suppose the government wants to minimize the deadweight loss in this industry through price
regulation, but it wants to ensure that the monopolist still earns enough profit to remain in the
industry. What price should the government force the monopolist to sell this product at given the
above graph?

@15 per unit
. $10 per unit
c. $30 per unit

d. $20 per unit

18
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28. Suppose you read in the newspaper that real GDP in the United States in the second quarter

.4~ of 2020 fell by approximately 32% due to the impact of the COVID-19 virus. From this you

ﬂ{p[/o///

a. The unemployment rate is rising and, at the same time, business investment is increasing since

the interest rate for borrowing funds to finance investment spending is very lowArw dheeitave Fo 1

b. That business investment is not impacted by the virus and therefore is staying constant while 5
Poss e ~bud Why ace puiimesies stdl 11edtng -

would predict:

v

the unemployment rate is rising. n
c. That the level of unemployment in the economy is falling and business investment in the
economy is growing. —yalileely w/ Fz1l i demand

@That the level of unemployment in the economy is increasing and that business investment in
the economy is falling.

Best answes

resf

SymE 29. You are given the following information about production and prices in an economy that
WoRK produces only two goods: books and pizzas.
T oF T — S————
T/ . o . rice per item in o rice per item in
CHAL LENGE Quantities in 2019 | ,\\ o Quantities in 2020 | , -
Books 100 books $10 per book 150 books $12 per book
Pizzas 200 pizzas $20 per pizza 150 pizza $25 per pizza
Using 2019 as the base year and this data, which of the following statements is true? Bel Wﬂ]
a. Real GDP in 2020 using 2019 as the base year has the same value as nominal GDP in 2020. F STy vs 5530
b. Real GDP in 2020 measured in constant 2019 dollars is greater than nominal GDP in 2020
measured in 2020 dollars. Y¢vp £ 55850
c. Since books and pizza became more expensive in 2020 relative to 2019, we know with _
certainty that real GDP in 2020 increased relative to real GDP in 2019. ~ Negdh Erow A ZL@T__‘.M
@Real GDP in 2020 decreased relative to real GDP in 2019. 7~ happpened il 3‘4&:&412‘:
N 4g S Sy
Se ME  30.The Sugar Company, located in Springfield, Iowa produces 100,000 pounds of sugar this

Tirve (7 year and it prices each pound of sugar at $10. Out of the total production of sugar 10,000 pounds

are sold abroad and 60,000 are sold in the US. The remaining sugar produced this year remains
unsold and stored in bags. Which of the following statements is true?
- X
a. The above transactions result in investment in the U.S. this year decreasing by $300,000.
b. The Sugar Company's activities increase U.S. GDP by $600,000.X %/, 02 0¥V
The above transactions result in investment in the U.S. this year increasing by $300,000.
d. The sugar Company's activities increase U.S. GDP by $700,000. X #/ S, UY
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END OF EXAM!
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